. VCE & PDF https://www.pass4itsure.com/heroku-architect.htmil
g 2024 Latest passditsure HEROKU-ARCHITECT PDF and VCE dumps

PassditSure.com  Download

HEROKU-ARCHITECT%AS

Salesforce Certified Heroku Architect

Pass Salesforce HEROKU-ARCHITECT Exam with
100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/heroku-architect.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Salesforce
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

HEROKU-ARCHITECT PDF Dumps | HEROKU-ARCHITECT VCE Dumps | HEROKU-ARCHITECT Practite Jest


https://www.pass4itsure.com/heroku-architect.html
https://www.pass4itsure.com/heroku-architect.html
https://www.pass4itsure.com/heroku-architect.html

VCE & PDF https://www.pass4itsure.com/heroku-architect.htmil
a 2024 Latest passditsure HEROKU-ARCHITECT PDF and VCE dumps
== / PassditSure.com Download

QUESTION 1

A client has a requirement to deploy versions of their app to different regions around the World. Which Heroku
Enterprise feature would an Architect recommend to accomplish this?

A. Using a Heroku StMM Space an app can be deployed to a specific region at the time of app creation.

B. When creating a Heroku Private Space, you can determine the specific geographic location for the space
C. You can changed the region for any app in any runtime by using the Heroku CLI.

D. Using the Common Runtime, an app will automatically be deployed to multiple regions.

Correct Answer: B

https://devcenter.heroku.eom/articles/pnvate-spaces#trustecl-ip-ranges

QUESTION 2

For which two use cases should an Architect recommend using Heroku Redis? (Choose two.)
A. Providing long-term data warehousing

B. Adding jobs to a queue

C. Providing a data cache layer

D. Querying relational data

Correct Answer: AD

QUESTION 3

A client requires that their web application\\'s logs are accessible only from within the same isolatednetwork as the
application itself.

Which solution should an Architect recommend in this scenario?

A. Deploy the application to a Private Space. Provide the Private Space\\'s stable outbound IPs to Heroku\\'s Logplex
router to block all logs originating fromthe Private Space.

B. Deploy the application to a Shield Private Space with Private Space Logging enabled. Forward logs to a destination
within the Shield Private Space.

C. Deploy the application to a Private Space. Connect the Private Space to an on-premise logging system using VPN
and specify it as a log drain.

D. Deploy the application to a Private Space. Enable Internal Routing to prevent the application\\'s logs from being
forwarded outside of the Private Space.
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Correct Answer: C

QUESTION 4

A company currently uses, and will continue to use, the MulesoftAnypoint Platform integration throughout their
architecture. They want to use Heroku Connect to help them integrate Heroku apps with Salesforce apps. What is a
benefit of introducing Heroku Connect in this environment?

A. Heroku Connect provides Salesforce a bidirectional synchronization between Platform Events on Salesforce and
Apache Kafka on Heroku

B. HerokuConnect provides Mulesoft an endpoint that is easily consumable by a back-end integration tool

C. Heroku Connect provides Salesforce a declarative bidirectional synchronization with Postgres and data proxy
capability via Heroku Connect External Objects.

D. Heroku Connect has a Microsoft connector for access to Heroku Postgres Heroku Redis, and Apache Kafka on
Heroku

Correct Answer: C

QUESTION 5

A client runs an application on a background worker dyno. The application allows its users to request personalized
information as a PDF. At peak usage, the app processes millions of requests at once.The resulting number of requests
has caused a bottleneck that is impacting its performance.

Which two solutions can an Architect recommend to resolve the bottleneck and improve performance? (Choose two.)
A. Increase the number of workers to consume thejob faster.

B. Move the application to a Private Space.

C. Add Heroku Redis as a job queue.

D. Add a CDN add-on from the Elements marketplace.

Correct Answer: AB
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